maEOAO

No. 505
F1T RBRDBRIFHRIEY

ER224 (20104) 58 1HIR#E
A 174,390 A
=2 82,508 A
poq 91,882 A
g 13,344 %
st 2FEHRDAOBERG
1REROARRIE 1M B4AET)
& &t 5 g & &t ] S
) H 4 93 48 45 426 205 221
52 3t = 145 87 58 627 345 282
- 1 i -52 -39 -13 -201 -140 -61
2 &\ 589 274 315 2,055 1,045 1,010
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by # 13, 344 174, 390 82, 508 91, 882 134 -52 186
H A B 20, 043 47, 246 21,618 25,628 68 -24 92
+ = 588 1,394 674 720 6 -1 7
FBAF—TH 224 536 248 288 1 -1 2
4BE_-TH 172 408 186 222 6 -1 7
4BE=TEH 271 664 304 360 0 0 0
4BFMTH 358 874 420 454 -1 -2 -5
4SBERTH 233 571 267 310 2 0 2
4BAFENRTH 457 1,095 495 600 1 0 1
Z B = 1,171 2,747 1,277 1,470 4 -3 7
FmEEfA—TH 245 573 264 309 3 -2 5
mEMA=TH 150 383 170 213 1 0 1
£/T—TH 484 1,110 486 624 -1 0 -1
£/ TFZTH 176 428 192 236 3 0 3
£/ TF=TH 283 622 310 312 2 -1 3
£/ THETH 323 751 331 420 6 0 6
£/ THETH 42 107 52 55 0 0 0
£ /J F 23 51 21 30 -1 -1 0
mAB®—TH 212 431 182 249 -5 0 -5
RAXZTEH 180 412 177 235 2 0 2
MABR=TH 134 323 156 167 5 0 5
RASMTH 289 633 287 346 8 1 7
INET—TH 162 331 148 183 1 0 1
INETZTH 470 1,148 488 660 -3 -1 -2
INBT=TH 258 57 242 329 3 0 3
KET—TH 475 984 438 546 9 0 9
KET—TH 567 1,292 591 701 3 0 3
KET=TH 3 816 376 440 8 1 7
KETIUTH 383 1,003 457 546 5 -2 7
KETRTH 286 687 337 350 4 -1 5
KETRTH 202 504 224 280 -3 0 -3
KETETH 88 225 98 127 0 0 0
MARE—TH 433 1,066 489 571 -1 0 -1
MARE_TH 421 984 455 529 -3 -1 -2
MARE=TH 620 1,476 672 804 -1 0 -1
MAREMNTH 273 699 325 374 -8 -1 -7
MARERTH 579 1, 421 672 749 0 1 -1
MARERTH 503 1,160 576 584 2 0 2
B AE—TH 481 1,023 470 553 7 -1 8
HEHEZTH 740 1,615 744 871 -4 -3 -1
HLEAE=TH 376 879 417 462 -9 -1 -8
HEHERTH 349 848 380 468 -4 -1 -3
Bl Rk HT 525 1,149 470 679 4 -1 5
£ B H 334 844 385 459 i 0 7
{EBh—TH 382 993 475 518 12 1 11
{EBI—TH 279 672 325 347 3 -1 4
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£E&—TH 317 735 337 398 -5 -2 -3
EA&ZTH 770 1, 755 804 951 4 -1 5
EA&=TH 172 478 195 283 -2 0 -2
EAWMTH 143 279 134 145 0 0 0
EAETH 391 949 442 507 0 2 -2
kR / F 522 1,348 593 755 11 0 11
BEEF—TH 285 638 299 339 -1 -1 0
WEEF_TH 238 554 237 317 -1 -1 0
WEE=TH 179 422 198 224 3 0 3
WBEEFLMTH 116 269 126 143 0 0 0
A AB—TH 233 542 265 271 -5 0 -5
WM AHB=-TH 183 445 200 245 0 1 -1
WAAB=TH 199 533 213 320 -2 1 -3
WA AHBmTAE 131 305 144 161 5 0 5
WMAABETH 592 1,485 678 807 -1 -1 0
B o #h i 10,073 25, 022 11, 733 13, 289 -21 -22 1
[E#—TH 399 1,298 581 117 -2 -2 0
E#g_—TH 522 1,284 616 668 2 -2 4
E#%=TH 755 1,733 820 913 3 -1 4
E#rm T B 301 712 360 352 7 -1 8
E#ATH 401 1,011 487 524 2 0 2
B o - E 2,403 5,912 2,815 3,097 -24 -6 -18
fE—TH 509 1,210 552 658 6 0 6
% E_TH 419 1,027 454 573 1 -1 2
mEHE=TH 281 691 305 386 0 -3 3
mA#EENTH 427 1, 041 480 561 -9 -2 -7
tEBHEERE—TH 9 24 13 1 0 0 0
tEBAHEER-TH 441 1,117 506 611 10 0 10
tEBHEER=TH 493 1,223 569 654 -2 -1 -1
tEBAHEEREMTH 510 1,204 532 672 -10 -4 -6
tEBAHEERRATH 264 708 337 371 0 -1 1
EmB—TH 639 1,595 758 837 2 0 2
EBR_-TH 462 1,159 561 598 0 2 -2
tBHE—TH 476 1,135 547 588 -6 0 -6
tEBAHEZTH 362 938 440 498 -1 0 -1
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FEOR O = 14,093 34,216 16, 411 17, 805 49 8 41
#E—TH 331 811 399 412 -1 1 -2
w’E_-TH 667 1,788 831 957 -8 -1 -1
#E=TH 568 1,399 623 776 -1 1 -2
R#EOTH 339 778 364 414 -2 0 -2
#ERTH 396 839 384 455 1 0 1
i =) 391 905 478 427 -1 -2 -5
FHN—TH 466 1,123 561 562 -1 1 -2
= i = 511 1,211 549 662 0 -1 1
FH9=TH 409 1,020 441 579 7 -1 8
F 4 284 619 283 336 5 0 5
1] % 2,238 5,263 2,623 2,640 17 5 12
t B E 684 1,769 865 904 -4 0 -4
FL—TH 294 739 357 382 2 1 1
FILZTH 448 1,115 526 589 6 1 5
FIR=TH 311 810 400 410 -8 0 -8
FLEMTH 555 1,498 122 176 3 2 1
FLAETH 326 681 368 313 -4 0 -4
FILATH 106 241 128 113 0 0 0
F i 63 144 68 76 -1 0 -1
HEH—TH 168 362 182 180 13 1 12
HH_-TH 37 973 482 491 3 0 3
HEHA=TH 826 2,020 983 1,037 5 0 5
HHMTH 355 8717 412 465 -1 -1 0
EARATH 586 1, 440 667 173 6 -2 8
HHNTH 202 446 217 229 3 1 2
4] H 0 0 0 0 0 0 0
w i 1,379 3,268 1,560 1,708 18 3 15
#wEL—TH 172 524 228 296 2 0 2
#HEIL—-_TH 235 580 258 322 0 0 0
HEIL=TH 269 634 306 328 -9 -1 -8
#HEILMTH 143 339 146 193 5 0 5
X M #h = 19, 036 42, 488 20, 526 21,962 4 -12 16
b/ A 1,762 3,998 1,895 2,103 -8 -4 -4
5Z-TH 757 1,376 714 662 -14 -1 -13
£=TH 673 1,560 751 809 -5 0 -5
EMTH 768 1,781 853 928 18 1 17
EETH 923 2,225 1,125 1,100 5 -2 7
a 864 1,986 949 1,037 7 1 6
INEA—TH 560 1,014 502 512 6 0 6
INERZTH 988 2,031 1,011 1,020 16 -2 18
I BB 43 102 48 54 1 0 1
RKw—TH 350 620 281 339 8 -1 9
KHW=—TH 880 1,548 127 821 -9 0 -9
KMW=TH 536 1,117 536 581 2 0 2
KM@ TH 743 1,588 174 814 2 1 1
KMETH 687 1,555 705 850 -9 -1 -8
RKMWATH 546 1,101 522 579 5 0 5
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X fia 1,368 3,139 1,527 1,612 -5 -1 -4
=) 52 294 860 428 432 0 -1 1
AHE—TH 1,539 3,535 1, 747 1,788 -3 2 -5
= ] 1,794 4 202 2,086 2,116 -11 2 -13
SR—TH 205 508 239 269 0 0 0
SR°-TH 358 901 421 480 0 -2 2
SR=TH 256 582 305 271 7 1 6
SRMTH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 322 818 385 433 0 0 0
SRE-TH 223 514 234 280 -1 0 -1
SRE=TEH 251 600 273 327 -1 0 -1
SREMTH 488 1,137 528 609 -1 -1 0
SREERETH 168 425 191 234 -3 -1 -2
SREBENTH 328 174 362 412 -1 -3 -4
SREETH 362 891 407 484 4 0 4
E B i = 10, 099 25,418 12,220 13, 198 34 -2 36
&5—TH 387 712 363 349 2 -1 3
fA—TH 625 1,396 665 731 5 0
BAAZTH 741 1,536 722 814 1 -1 2
£ PN 1,870 4 888 2,312 2,576 10 -1 11
E#—TH 611 1,375 678 697 3 2 1
E#H_TH 706 1,757 841 916 -6 1 -1
EH=TH 233 560 279 281 2 -1
E#EMOUTH 237 698 324 374 7 1
EHEATH 431 1,097 523 574 3 0 3
HE X 2,225 5,710 2,825 2,885 -1 1 -2
177 (o] 1,319 3,590 1,726 1,864 9 -3 12
E3] = 714 2,099 962 1,137 -1 0 -1
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